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To determine the number of trout in a 3 There are D trout in the lake.
lake, a conservationist catches 139 trout,

tags them and throws them back into the

lake. Later, 60 trout are caught; 15 of

them are tagged. How many trout are in
the lake?

IfDr Suﬁiﬂdﬁdés his’ bike to his office, he averagés 6 mﬂes per hour. If heh drives his

1
car, he averages 18 miles per hour. His time driving is > hour less than his time
bi:yc]i{ng. How far is his office? ‘

His office is D miles away.

(Type an integer or a decitmal )




